Commentationes Mathematicae Universitatis Carolinae

Marie Hušková
Estimators in the location model with gradual changes

Commentationes Mathematicae Universitatis Carolinae, Vol. 39 (1998), No. 1, 147--157

Persistent URL: http://dml.cz/dmlcz/118993

Terms of use:

© Charles University in Prague, Faculty of Mathematics and Physics, 1998

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ*: *The Czech Digital Mathematics Library* http://project.dml.cz

Estimators in the location model with gradual changes

M. Hušková

Abstract. A number of papers has been published on the estimation problem in location models with abrupt changes (e.g., Csörgő and Horváth (1996)). In the present paper we focus on estimators in location models with gradual changes. Estimators of the parameters are proposed and studied. It appears that the limit behavior (both the rate of consistency and limit distribution) of the estimators of the change point in location models with abrupt changes and gradual changes differ substantially.

Keywords: gradual changes in location model, estimators, confidence regions

Classification: 62G20, 62E20, 60F17

1. Introduction and main results

We consider here the following location model with gradual changes after an unknown time point m:

(1.1)
$$Y_i = \mu + \delta_n \left(\frac{i - m}{n} \right)^+ + e_i, \qquad i = 1, \dots, n,$$

where $a^+ = \max\{a, 0\}$, μ , $\delta_n \neq 0$ and m are parameters, e_1, \ldots, e_n are i.i.d. random variables with $Ee_i = 0$, $vare_i = \sigma^2$ and $E|e_i|^{2+\Delta} < \infty$, $i = 1, \ldots, n$, and some $\Delta > 0$. The model corresponds to the situation when up to unknown m the observations are i.i.d. and then the model changes to a simple regression model with the slope δ_n . The parameter m is the *change point*.

Our main interest is to estimate the parameter m and to study its limit properties. Analogous results for parameters μ , δ_n and σ^2 are also derived.

Similar problems were treated by several authors. Assuming that the error terms e_i have a normal distribution, Hinkley (1971), Feder (1975) and Smith and Cook (1980) considered maximum likelihood type estimators in the model

$$Y_i = \mu + \beta(x_i - \eta)^+ + e_i, i = 1, \dots, n,$$

where μ , η are unknown parameters. This model reduces to the model (1.1) with a particular choice of x_i and a particular choice of the distribution of the e_i .

Partially supported by grant GAČR-201/94/0472 and GAČR-201/97/1163.

Siegmund and Zhang (1994) developed a small sample conservative confidence region for parameter θ that works reasonably well even for moderate sample sizes in the model:

$$Y_i = \beta_0 + \beta_1 x_i + \beta_2 (x_i - \theta)^+ + e_i, \quad i = 1, \dots n,$$

where β_0 , β_1 , β_2 and θ are unknown parameters, x_1, \ldots, x_n are known regression constants and e_1, \ldots, e_n are i.i.d. with distribution $N(0, \sigma^2)$, $\sigma^2 > 0$ unknown.

Some authors considered the problem in the framework of nonlinear regression (e.g., Ratkowski (1983) p. 122 and Seber, Wild (1989) p. 447).

Jarušková (1996) developed test procedures for testing $H_0: m = n$ against $H_1: m < n$ in the model (1.1) and studied their limit behavior under the null hypothesis.

The case of the gradual changes described by model (1.1) can occur, e.g., in meteorogical data or quality control.

In the present paper we derive the limit distribution of least squares type estimators of m, μ , δ_n both for local alternatives ($\delta_n \to 0$ as $n \to \infty$) and fixed ones ($\delta_n = \delta \neq 0$). We also get a consistency result for an estimator of σ^2 . It should be pointed out that the limit behavior (both the rate of convergence and the limit distribution) of the estimator of m differs from the case of the abrupt change (see Remark b below).

In the following we shall denote

$$x_{ik} = \left(\frac{i-k}{n}\right)^+, \quad i, k = 1, \dots, n,$$

$$\overline{x}_k = \frac{1}{n} \sum_{i=1}^n x_{ik}.$$

In the present paper we study least squares type estimators $\widehat{m}, \widehat{\mu}, \widehat{\delta}_n$ of the parameters m, μ, δ_n , defined as solutions of the minimization problem

$$\min \sum_{i=1}^{n} (Y_i - \mu - \delta_n x_{ij})^2,$$

$$\mu \in R^1, \, \delta_n \in R^1, \, j = 1, \dots, n.$$

In other words the estimators minimize the sum of squared deviations. Direct calculations give the explicit expression for the estimators $\hat{\delta}_n$, $\hat{\mu}_n$. Namely,

(1.2)
$$\widehat{\delta}_n = \frac{\sum_{i=1}^n (x_{i\hat{m}} - \overline{x}_{\hat{m}}) Y_i}{\sum_{i=1}^n (x_{i\hat{m}} - \overline{x}_{\hat{m}})^2},$$

$$\widehat{\mu}_n = \overline{Y}_n - \widehat{\delta}_n \overline{x}_{\hat{m}}.$$

The estimator \widehat{m} can equivalently be defined as a solution of the maximization problem

(1.4)
$$\max \frac{\left(\sum_{i=1}^{n} (x_{ij} - \overline{x}_j) Y_i\right)^2}{\sum_{i=1}^{n} (x_{ij} - \overline{x}_j)^2}, \ j = 1, \dots, n.$$

These estimators coincide with the maximum likelihood estimators if the observations $Y_1, ..., Y_n$ have normal distribution. We estimate σ^2 by

(1.5)
$$\widehat{\sigma}_n^2 = \frac{1}{n} \sum_{i=1}^n (Y_i - \widehat{\mu}_n - \widehat{\delta}_n \overline{x}_{i\hat{m}})^2.$$

Now, we state the main limit properties of these estimators. Theorem A concerns the limit distribution of the estimator \widehat{m} in the model (1.1) with m < n (alternative hypothesis), while limit properties of estimators $\widehat{\mu}_n$, $\widehat{\delta}_n$ and $\widehat{\sigma}_n^2$ for the same situation are formulated in Theorem B. Theorem C then gives the limit behavior of the estimators for m = n (the null hypothesis).

Theorem A. Let random variables $Y_1, ..., Y_n$ be independent and have the property (1.1). Let, as $n \to \infty$,

(1.6)
$$\delta_n = O(1), \quad \frac{\delta_n^2 n}{(\log \log n)^2} \to \infty$$

and

$$(1.7) m = [n\theta]$$

for some $\theta \in (0,1)$.

Then, as $n \to \infty$,

(1.8)
$$\frac{\delta_n}{\sigma} \frac{\widehat{m} - m}{\sqrt{n}} \sqrt{\frac{\theta(1 - \theta)}{1 + 3\theta}} \to^D N(0, 1).$$

Theorem B. Let assumptions of Theorem A be satisfied. Then, as $n \to \infty$,

(1.9)
$$\sqrt{n}(\widehat{\delta}_n - \delta_n) \to^D N(0, \frac{12\sigma^2}{(1-\theta)^3(1+3\theta)}),$$

(1.10)
$$\sqrt{n}(\widehat{\mu}_n - \mu) \to^D N(0, \frac{4\sigma^2}{1 + 3\theta}),$$

and

(1.11)
$$\widehat{\sigma}_n^2 - \sigma^2 = o_P((\log \log n)^{-1}).$$

Theorem C. Let Y_1, \ldots, Y_n be i.i.d. random variables with $E|X_i|^{2+\Delta} < \infty$ for a positive Δ . Then, as $n \to \infty$,

$$(1.12) P(n - \eta_n > \widehat{m} > (1 - \epsilon_n)n) \to 1$$

for arbitrary sequences $\{\epsilon_n\}$ and $\{\eta_n\}$ of positive numbers such that, as $n \to \infty$,

$$\epsilon_n^3 \log \log n \to 0, \ \frac{\eta_n}{\log n} = O(1).$$

Moreover, the assertions (1.10)–(1.11) remain true and as $n \to \infty$,

$$\widehat{\delta}_n = o_p((\log n)^{-3/2}).$$

Remark a. Theorem A covers both local $(\delta_n \to 0 \text{ as } n \to \infty)$ and fixed type $(\delta_n = \delta \neq 0)$ of the size of change.

Remark b. Both the rate of consistency and the limit distribution of the estimator \widehat{m} differ from the case of abrupt changes. In case of an abrupt change in a location model we get the rate of consistency δ_n^{-2} while in case of a gradual change (1.1) we received the rate $n^{1/2}\delta_n^{-1}$. The limit distribution of a properly standardized estimator \widehat{m} in case of abrupt changes is the same the argmax of a certain Gaussian process with a time dependent drift. For the results for abrupt changes in location models see, e.g., Csörgő and Horváth (1997) or Antoch, Hušková and Veraverbeke (1995).

Remark c. The assertion of Theorem A remains true if δ_n and σ are replaced by suitable estimators, e.g., given by (1.4) and (1.5), respectively.

2. Proofs

Recall that the estimator \widehat{m} can be equivalently defined as a solution of the maximization problem

$$\max \frac{\left(\sum_{i=1}^{n} (x_{ij} - \overline{x}_j) Y_i\right)^2}{\sum_{i=1}^{n} (x_{ij} - \overline{x}_j)^2}, \quad j = 1, \dots, n.$$

First we prove several auxiliary lemmas.

Lemma 1. If (1.6)–(1.7) are satisfied, then for each $\epsilon \in (0, \min(\theta, 1 - \theta))$, as $n \to \infty$,

(2.2)
$$\frac{1}{n} \sum_{i=1}^{n} (x_{im} - \overline{x}_m)^2 = \frac{(1-\theta)^3}{3} - \frac{(1-\theta)^4}{4} + O(n^{-1}),$$

and

$$\max_{|k-m|>\epsilon n} \frac{\left(\sum_{i=1}^{n} (x_{ik} - \overline{x}_k) x_{im}\right)^2}{\sum_{i=1}^{n} (x_{ik} - \overline{x}_k)^2} = \max\left\{\frac{12(1-\theta)^4 (1+2\theta-3(\theta-\epsilon)^2)^2}{(1-\theta+\epsilon)^3 (1+3\theta-3\epsilon)},\right.$$

$$(2.3) \qquad \frac{(1-\theta-\epsilon)(1+2(\theta+\epsilon)-3\theta^2)^2}{12(1+3\theta+3\epsilon)}\right\} + O(n^{-1})$$

$$<\frac{(1-\theta)^3}{3} + O(n^{-1}).$$

PROOF: Elementary calculations give, as $n \to \infty$,

$$\frac{1}{n} \sum_{i=1}^{n} x_{ik} x_{im} = \int_{0}^{1} (s - \theta)^{+} (s - k/n)^{+} ds + O\left(\frac{\min(n - k, n - m)}{n^{2}}\right)
= (1 - \max(\theta, k/n))^{2} (2 + \max(\theta, k/n) - 3\min(\theta, k/n))/6
+ O\left(\frac{\min(n - k, n - m)}{n^{2}}\right),$$
(2.4)

(2.5)
$$\frac{1}{n} \sum_{i=1}^{n} x_{ik} = \int_{0}^{1} (s - k/n)^{+} ds + O(\frac{n-k}{n^{2}}) = (1 - k/n)^{2}/2 + O(\frac{n-k}{n^{2}}),$$

$$(2.6)$$

$$\frac{1}{n} \sum_{i=1}^{n} (x_{ik} - \overline{x}_k)^2 = \frac{(1 - k/n)^3}{3} - \frac{(1 - k/n)^4}{4} + O(\frac{n - k}{n^2})$$

uniformly in $1 \le k \le n$.

Hence, as $n \to \infty$,

$$\frac{1}{n} \frac{\left(\sum_{i=1}^{n} (x_{ik} - \overline{x}_k) x_{im}\right)^2}{\sum_{i=1}^{n} (x_{ik} - \overline{x}_k)^2} = \frac{1}{12} Q(k/n) + O\left(\frac{\min(n-k, n-m)}{n^2}\right)$$

uniformly in $1 \le k < n$, where

$$Q(t) = \frac{(1 - \max(\theta, t))^4 (1 + 2\max(\theta, t) - 3\min(\theta^2, t^2))^2}{(1 - t)^3 (1 + 3t)}, \ 0 < t < 1.$$

This immediately implies (2.2). Calculating the derivative of Q(t) we find that

$$Q'(t) > 0$$
 for $0 < t < \theta$
 $Q'(t) < 0$ for $1 > t > \theta$

which implies (2.3).

Lemma 2. Let the assumptions of Theorem A be satisfied then, as $n \to \infty$,

(2.7)
$$\max_{1 \le k < n(1 - \epsilon_n)} \frac{\left(\sum_{i=1}^n (x_{ik} - \overline{x}_k) e_i\right)^2}{\sum_{i=1}^n (x_{ik} - \overline{x}_k)^2} = O_p(\epsilon_n^{-1}),$$

for every sequence $\{\epsilon_n\}$, $0 < \epsilon_n < 1$ and

(2.8)
$$\max_{n-\eta_n \le k < n} \frac{\left(\sum_{i=1}^n (x_{ik} - \overline{x}_k)e_i\right)^2}{\sum_{i=1}^n (x_{ik} - \overline{x}_k)^2} = O_p(\log\log\eta_n),$$

for every sequence $\{\eta_n\}$, $\eta_n < n$, $\eta_n \to \infty$. Moreover,

(2.9)
$$P\left(\max_{1 \le k < n} \frac{\left(\sum_{i=1}^{n} (x_{ik} - \overline{x}_k)e_i\right)^2}{\sigma^2 \sum_{i=1}^{n} (x_{ik} - \overline{x}_k)^2} > \sqrt{2\log\log n} + \frac{x + \log\frac{\sqrt{3}}{4\pi}}{\sqrt{2\log\log n}}\right) \to 1 - \exp\{-\exp\{-x\}\}, \quad x \in \mathbb{R}^1.$$

PROOF: By the Hájek-Renyi inequality (e.g., Theorem 7.4.8 in Chow and Teicher (1987)), as $n \to \infty$,

(2.10)
$$\max_{1 \le k \le n(1-\epsilon_n)} \left\{ \frac{\left| \sum_{i=k+1}^n e_i \right|}{n-k} \right\} = O_p((n\epsilon_n)^{-1/2}),$$

which together with standard arguments gives

$$\max_{1 \le k < (1 - \epsilon_n)n} \left\{ \frac{\left(\sum_{i=1}^n (x_{ik} - \overline{x}_k) e_i\right)^2}{\sum_{i=1}^n (x_{ik} - \overline{x}_k)^2} \right\}
= O_p \left(\max_{1 \le k < (1 - \epsilon_n)n} \left\{ \left(\sum_{i=1}^n (i - k)^+ e_i\right)^2 (n - k)^{-3} \right\} + \left(\sum_{i=1}^n e_i\right)^2 (n\epsilon_n)^{-1} \right)
= O_p \left(\max_{1 \le k < (1 - \epsilon_n)n} \left(\sum_{j=k+1}^n \sum_{i=j+1}^n e_i\right)^2 (n - k)^{-3} \right) + O_p(\epsilon_n^{-1}) = O_p(\epsilon_n^{-1}).$$

To prove (2.8) we realize that by the Darling-Erdös theorem (see, e.g., Theorem A.4.2 in Csörgő and Horváth (1997)), as $n\to\infty$

(2.11)
$$\max_{n-\eta_n \le k < n} \left\{ \frac{\left| \sum_{i=k+1}^n e_i \right|}{\sqrt{n-k}} \right\} = O_p(\sqrt{\log \log \eta_n}).$$

Now, proceeding analogously as in proving (2.7) and using (2.11) instead of (2.10) we obtain (2.8). Assertion (2.9) follows from Theorem 2 in Jarušková (1996). \square

The estimator \widehat{m} can equivalently be defined as a solution of the maximization problem as

(2.12)
$$\max \{A_j + 2\delta_n B_j + \delta_n^2 C_j\}, \qquad j = 1, \dots, n-1,$$

where

$$A_{k} = \frac{\left(\sum_{i=1}^{n} (x_{ik} - \overline{x}_{k})e_{i}\right)^{2}}{\sum_{i=1}^{n} (x_{ik} - \overline{x}_{k})^{2}} - \frac{\left(\sum_{i=1}^{n} (x_{im} - \overline{x}_{m})e_{i}\right)^{2}}{\sum_{i=1}^{n} (x_{im} - \overline{x}_{m})^{2}},$$

$$B_{k} = \frac{\left(\sum_{i=1}^{n} (x_{ik} - \overline{x}_{k})e_{i}\right)\left(\sum_{i=1}^{n} (x_{ik} - \overline{x}_{k})x_{im}\right)}{\sum_{i=1}^{n} (x_{ik} - \overline{x}_{k})^{2}} - \sum_{i=1}^{n} (x_{im} - \overline{x}_{m})e_{i},$$

$$C_{k} = \frac{\left(\sum_{i=1}^{n} (x_{ik} - \overline{x}_{k})x_{im}\right)^{2}}{\sum_{i=1}^{n} (x_{ik} - \overline{x}_{k})^{2}} - \sum_{i=1}^{n} (x_{im} - \overline{x}_{m})^{2}.$$

Lemma 3. Let the assumptions of Theorem A be satisfied. Then, as $n \to \infty$,

(2.13)
$$C_k = -\frac{(m-k)^2}{n} \frac{\theta(1-\theta)}{1+3\theta} (1+o(\frac{m-k}{n})),$$

(2.14)
$$\max_{r_n|\delta_n|^{-1}\sqrt{n} \le |m-k| \le n\epsilon_n} \left\{ \frac{A_k + \delta_n B_k}{\delta_n^2 (m-k)^2} n \right\} = o_p(1),$$

(2.15)
$$\max_{|m-k| \le r_n |\delta_n|^{-1} \sqrt{n}} \left\{ \frac{\sqrt{n}}{(m-k)|\delta_n|} |A_k| \right\} = o_p(1)$$

and

(2.16)
$$\max_{|m-k| \le r_n |\delta_n|^{-1} \sqrt{n}} \left\{ B_k \frac{\sqrt{n}}{m-k} - Z_n \frac{1}{\sqrt{n}} | \right\} = o_p(1),$$

where $\{\epsilon_n\}$ and $\{r_n\}$ satisfy, as $n \to \infty$,

$$(2.17) 0 < \epsilon_n, \, \epsilon_n \to 0, \, r_n \to \infty, \, \frac{|\delta_n|\sqrt{n}}{r_n\sqrt{\log\log n}} \to \infty$$

and where

(2.18)
$$Z_n = \sum_{i=m+1}^n (e_i - \overline{e}_n) - \frac{n\theta(1-\theta)^2}{2\sum_{i=1}^n (x_{im} - \overline{x}_m)^2} \sum_{i=1}^n (e_i - \overline{e}_n) x_{im}.$$

PROOF: By (2.4)–(2.6) we have, as $n \to \infty$,

(2.19)
$$\sum_{i=1}^{n} (x_{ik} - \overline{x}_k)^2 = n \frac{(1-\theta)^3}{12} (1+3\theta) + O(m-k),$$

(2.20)
$$\sum_{i=1}^{n} (x_{ik} - \overline{x}_k)(x_{im} - x_{ik}) = \frac{k-m}{2} (1-\theta)^2 \theta (1 + O(\frac{m-k}{n}))$$

and

(2.21)
$$\sum_{i=1}^{n} (x_{ik} - x_{im} - \overline{x}_k + \overline{x}_m)^2 = \frac{(m-k)^2}{n} (1-\theta)\theta (1 + O(\frac{m-k}{n}))$$

uniformly in (m-k) = o(n).

Next, the terms A_k , B_k and C_k can be rewritten as

$$A_{k} = \frac{\left(\sum_{i=1}^{n} (x_{ik} - x_{im} - \overline{x}_{k} + \overline{x}_{m})e_{i}\right)^{2}}{\sum_{i=1}^{n} (x_{ik} - \overline{x}_{k})^{2}} + 2\left(\sum_{i=1}^{n} (x_{im} - \overline{x}_{m})e_{i}\right) \frac{\sum_{i=1}^{n} (x_{ik} - x_{im} - \overline{x}_{k} + \overline{x}_{m})e_{i}}{\sum_{i=1}^{n} (x_{ik} - \overline{x}_{k})^{2}} - \frac{\left(\sum_{i=1}^{n} (x_{im} - \overline{x}_{m})e_{i}\right)^{2}}{\sum_{i=1}^{n} (x_{im} - \overline{x}_{m})^{2}} \frac{\sum_{i=1}^{n} (x_{ik} - x_{im} - \overline{x}_{k} + \overline{x}_{m})^{2}}{\sum_{i=1}^{n} (x_{ik} - \overline{x}_{k})^{2}} + 2\frac{\left(\sum_{i=1}^{n} (x_{im} - \overline{x}_{m})e_{i}\right)^{2}}{\sum_{i=1}^{n} (x_{im} - \overline{x}_{m})^{2}} \frac{\sum_{i=1}^{n} (x_{ik} - x_{im})(x_{im} - \overline{x}_{m})}{\sum_{i=1}^{n} (x_{ik} - \overline{x}_{k})^{2}},$$

$$B_{k} = \sum_{i=1}^{n} (x_{ik} - x_{im})(e_{i} - \overline{e}_{n}) - \sum_{i=1}^{n} (x_{ik} - \overline{x}_{k})e_{i} \frac{\sum_{i=1}^{n} (x_{ik} - \overline{x}_{k})(x_{ik} - x_{im})}{\sum_{i=1}^{n} (x_{ik} - \overline{x}_{k})^{2}},$$

$$C_{k} = \frac{\left(\sum_{i=1}^{n} (x_{ik} - \overline{x}_{k})(x_{im} - x_{ik})\right)^{2}}{\sum_{i=1}^{n} (x_{ik} - \overline{x}_{k} - \overline{x}_{k})^{2}} - \sum_{i=1}^{n} (x_{ik} - x_{im} - \overline{x}_{k} + \overline{x}_{m})^{2}.$$

Inserting (2.19)–(2.21) into these expressions for A_k , B_k and C_k and applying standard arguments we obtain (2.13) and, as $n \to \infty$,

(2.22)
$$A_{k} = O_{p} \left(\left(\sum_{i=1}^{n} (x_{ik} - x_{im})(e_{i} - \overline{e}_{n}) \right)^{2} / n + \left(\left(\sum_{i=1}^{n} (x_{ik} - x_{im})(e_{i} - \overline{e}_{n}) \right)^{2} / n \right)^{1/2} + |k - m| / n \right)$$

and

$$B_k = \sum_{i=1}^{n} (x_{ik} - x_{im})(e_i - \overline{e}_n) - \sum_{i=1}^{n} (e_i - \overline{e}_n)x_{ik} \frac{6(m-k)\theta}{(1-\theta)(1+3\theta)n} (1 + O((m-k)/n))$$

uniformly for (k-m) = o(n). Moreover, we find that, as $n \to \infty$,

$$\left| B_{k} \frac{\sqrt{n}}{m-k} - Z_{n} \frac{1}{\sqrt{n}} \right|$$

$$\leq \left| \frac{\sqrt{n}}{m-k} \sum_{i=1}^{n} (x_{ik} - x_{im})(e_{i} - \overline{e}_{n}) - \frac{1}{\sqrt{n}} \sum_{i=m+1}^{n} (e_{i} - \overline{e}_{n}) \right|$$

$$+ \frac{6\theta}{(1-\theta)(1+3\theta)} \frac{1}{\sqrt{n}} \left| \sum_{i=1}^{n} (x_{ik} - x_{im})(e_{i} - \overline{e}_{n}) \right| + o_{p}(1)$$

uniformly for $(k-m) = o_p(n)$. Hence to establish (2.15) and (2.16) it suffices to prove that, as $n \to \infty$,

(2.25)
$$\left| \frac{\sqrt{n}}{m-k} \sum_{i=1}^{n} (x_{ik} - x_{im})(e_i - \overline{e}_n) - \frac{1}{\sqrt{n}} \sum_{i=m+1}^{n} (e_i - \overline{e}_n) \right| = o_p(1)$$

and

(2.26)
$$\left| \sum_{i=1}^{n} (x_{ik} - x_{im})(e_i - \overline{e}_n) \right| / \sqrt{n} = o_p(1)$$

uniformly for $(k-m) = o_p(n)$. We have

$$\left| \frac{1}{\sqrt{n}} \sum_{i=1}^{n} (x_{ik} - x_{im})(e_i - \overline{e}_n) - \frac{1}{\sqrt{n}} \frac{m - k}{n} \sum_{i=m+1}^{n} (e_i - \overline{e}_n) \right|
\leq \frac{1}{n^{3/2}} \left(I\{k > m\} | \sum_{i=m+1}^{k} (k - i)(e_i - \overline{e}_n)| + I\{k \leq m\} | \sum_{i=k+1}^{m} (i - k)(e_i - \overline{e}_n)| \right)
= \frac{1}{n^{3/2}} \left(I\{k > m\} | \sum_{j=m+2}^{k} \sum_{i=m+1}^{j-1} (e_i - \overline{e}_n)| + I\{k \leq m\} | \sum_{j=k+1}^{m} \sum_{i=j}^{m} (e_i - \overline{e}_n)| \right).$$

Since by the law of iterated logarithm, as $n \to \infty$,

$$\max_{1 \le k \le r_n |\delta_n|^{-1} \sqrt{n}} \left\{ \left| \sum_{i=m+1}^{m+k} e_i \right| k^{-1/2} + \left| \sum_{i=m-k}^{m} e_i \right| k^{-1/2} \right\} = O_p(\sqrt{\log \log n})$$

we also have

$$\max_{1 \le k \le r_n |\delta_n|^{-1} \sqrt{n}} \left(|\sum_{j=m+2}^{m+k} \sum_{i=m+1}^{j-1} (e_i - \overline{e}_n)| + |\sum_{j=m-k}^{m} \sum_{i=j}^{m} (e_i - \overline{e}_n)| \right)$$
$$= O_p((r_n |\delta_n|^{-1/2} \sqrt{n})^{3/2} \sqrt{\log \log n}).$$

The last relation together with (2.27) and assumption (2.17) then imply (2.26). Relation (2.25) follows from (2.26) and $\sum_{i=1+m}^{n} e_i = O_p(\sqrt{n})$. Our lemma is proved.

PROOF OF THEOREM A: Lemma 1, Lemma 2 and Lemma 3 imply that, as $n \to \infty$,

$$P\Big(\max_{1 \le k < n} \frac{\Big(\sum_{i=1}^{n} (x_{ik} - \overline{x}_{k}) Y_{i}\Big)^{2}}{\sum_{i=1}^{n} (x_{ik} - \overline{x}_{k})^{2}}$$

$$= \max_{|k-m| \le r_{n} |\delta_{n}|^{-1} \sqrt{n}} \frac{\Big(\sum_{i=1}^{n} (x_{ik} - \overline{x}_{k}) Y_{i}\Big)^{2}}{\sum_{i=1}^{n} (x_{ik} - \overline{x}_{k})^{2}}\Big) \to 1.$$

Next, Lemma 3 ((2.12), (2.14), (2.15)) implies that

$$A_k + 2\delta_n B_k + \delta_n^2 C_k$$

$$= \delta_n \frac{m-k}{\sqrt{n}} \left(-\delta_n \frac{m-k}{\sqrt{n}} \frac{\theta(1-\theta)}{1+3\theta} + 2\frac{Z_n}{\sqrt{n}} + o_p(1) \right),$$

uniformly for $|k-m| \leq r_n |\delta_n|^{-1} \sqrt{n}$, where r_n satisfies (2.16). Then regarding the definition of \widehat{m} we can infer that $\delta_n \frac{m-\widehat{m}}{\sqrt{n}} \frac{\theta(1-\theta)}{1+3\theta}$ has the same limit distribution as $2Z_n n^{-1/2}$. The random variable Z_n is the sum of independent random variables, its variance fulfills, as $n \to \infty$,

$$var Z_n = \sigma^2 \left(\sum_{i=1}^n (c_i - \overline{c}_n)^2 + \frac{n^2 \theta^2 (1 - \theta)^4}{4 \sum_{i=1}^n (x_{im} - \overline{x}_m)^2} \right)$$
$$= \sigma^2 n \frac{\theta (1 - \theta)}{1 + 3\theta} (1 + o(1))$$

and it can be easily checked that the assumptions of CLT are fulfilled and therefore, as $n \to \infty$,

$$n^{-1/2}Z_n \to^D N(0, \sigma^2 \frac{\theta(1-\theta)}{1+3\theta}).$$

This together with the above arguments imply the assertion (1.8).

PROOF OF THEOREM B: Since Theorem A implies that $\widehat{m} - m = O_p(\sqrt{n}\delta_n^{-1}) = o_p(n)$, then by (2.4)–(2.6) we have

$$\sum_{i=1}^{n} (x_{i\hat{m}} - \overline{x}_{\hat{m}})^2 = \sum_{i=1}^{n} (x_{im} - \overline{x}_m)^2 + O_p(\sqrt{n}\delta_n^{-1})$$
$$\sum_{i=1}^{n} (x_{im} - x_{i\hat{m}})e_i = O_p((m - \widehat{m})n^{-1/2}) = O_p(\delta_n^{-1}).$$

This together with (2.6) and (2.23) further implies that $\sqrt{n}(\widehat{m}-m)$ has the same limit distribution as

 $\sqrt{n} \frac{\sum_{i=1}^{n} (x_{im} - \overline{x}_{m}) e_{i}}{\sum_{i=1}^{n} (x_{im} - \overline{x}_{m})^{2}}.$

This is the sum of independent random variables and it can be easily checked that the assumptions of CLT are satisfied and hence (1.9) holds true.

The limit distribution of $\widehat{\mu}$ can be obtained in a very similar way and hence the proof is omitted.

Concerning (1.11) we notice that by (1.9)–(1.10) $\hat{\delta}_n - \delta_n = O_p(n^{-1/2})$ and $\hat{\mu}_n - \mu = O_p(n^{-1/2})$ which after few standard steps leads to the desired assertion.

PROOF OF THEOREM C: By (2.9) we have, as $n \to \infty$,

$$P\left(\max_{1 \le k < n} \frac{\left(\sum_{i=1}^{n} (x_{ik} - \overline{x}_k)e_i\right)^2}{\sigma^2 \sum_{i=1}^{n} (x_{ik} - \overline{x}_k)^2} > \sqrt{\log \log n}\right) \to 1,$$

which together with (2.8)–(2.9) yields the assertion of the theorem.

Acknowledgment. The author wishes to express her sincere thanks to J. Antoch and D. Jarušková for valuable discussions on the subject.

References

Antoch J., Hušková M., Veraverbeke N., Change-point estimators and bootstrap, J. Nonparam. Statist. 5 (1995), 123–144.

Chow Y.S., Teicher H., Probability Theory, Springer Verlag, New York, 1987.

Csörgő M., Horváth L., Limit theorems in change point analysis, Wiley, New York, 1997.

Feder P.I., On asymptotic distribution theory in segmented regression problems, Ann. Statist. 3 (1975), 49–83.

Hinkley D., Inference in two-phase regression, J. Amer. Statist. Assoc. 66 (1971), 736–743.

Jarušková D., Testing appearance of linear trend, submitted, 1996.

Ratkowski D.A., Nonlinear Regression Models, Marcel Dekker, New York, 1983.

Seber G.A.F. and Wild C.J., Nonlinear Regression, Wiley, New York, 1988.

Siegmund D., Zhang H., Confidence region in broken line regression, Change-point problems, vol. 23, IMS Lecture Notes – Monograph Series, 1994, pp. 292–316.

DEPARTMENT OF STATISTICS, FACULTY OF MATHEMATICS AND PHYSICS, CHARLES UNIVERSITY, SOKOLOVSKÁ 83, CZ-186 75 PRAHA, CZECH REPUBLIC

E-mail: huskova@karlin.mff.cuni.cz

(Received December 12, 1996, revised June 16, 1997)